BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE ITEM
1) CROSTEX CONSTRUCTION INC.	\$1,177,000,00	\$1,100,784,75
2) R CONSTRUCTION CIVIL, LLC	\$1,192,227.50	\$1,106,775,50
3) DIMAS BROS. CONSTRUCTION	\$1,211,073,80	\$1,129,422,30
4) FELLERS AND CLARK LP	\$1,227,000.00	\$1,164,880,40
5) HURTADO CONSTRUCTION COMPANY	\$1,308,028,76	\$1,247,293,20
6) TEXASITE	\$1,338,870.00	\$1,249,231,00

CALENDAR DAYS 50/60

KYLE T. KRAUS

134855

12/14123

1, Kyle T. Kraus, PE, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 8

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

				1) CROSTEX CONS	TRUCTION INC.	2) R CONSTRUCTION	ON CIVIL, LLC	3) DIMAS BROS. CO	INSTRUCTION
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS FO	R ANNISTON SECTION 8								
	ER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING COMPLETE IN PLACE	LF	2248	\$31.75	\$71,374.00	\$37.00	\$83,176.00	\$37.75	\$84,862.00
	D JOINT 8" PVC, WATER PIPE, AWWA C-900, DR 14, CLASS 305, ALL CLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	1237	\$59.75	\$73,910.75	\$63.00	\$77,931.00	\$58.00	\$71,746.00
3 8" AWWA G	ATE VALVE & BOX, COMPLETE IN PLACE	EA	8	\$1,675.00	\$13,400.00	\$1,800.00	\$14,400.00	\$1,505.00	\$12,040.00
	VALVE, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6° GATE VALVE & AND FLUSHING VALVE, COMPLETE IN PLACE	EA	7	\$5,400.00	\$37,800.00	\$5,200.00	\$36,400.00	\$5,084.00	\$35,588.00
5 8" PLUG AN	D CLAMP WITH 2° BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	2	\$1,240.00	\$2,480.00	\$1,300.00	\$2,600.00	\$715.00	\$1,430.00
EXISTING F	ECTION (ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF LUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT WATER LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$330.00	\$660.00	\$784.00	\$1,568.00
7 TRENCH S	FETY, ALL DEPTHS, COMPLETE IN PLACE	LF	3520	\$1.05	\$3,696.00	\$0.10	\$352.00	\$1.00	\$3,520.00
WATER ITEMS FO	R ANNISTON SECTION 8 SUBTOTAL:				\$203,660.75		\$215,519.00		\$210,754.00
SANITARY SEWE	R ITEMS FOR ANNISTON SECTION 8								
1 8" PVC SEV PLACE	/ER PIPE, ASTM D-2241, SDR 26 (PR 180), 8'-12' CUT, COMPLETE IN	LF	1291	\$38.25	\$49,380.75	\$36.00	\$46,476.00	\$45.20	\$58,353.20
2 8" PVC SEV PLACE	/ER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN	LF	870	\$50,50	\$43,935.00	\$46.00	\$40,020.00	\$53.00	\$46,110.00
SDR 26, AL	E' DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, E, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE	LF	2321	\$42.50	\$98,642.50	\$50.00	\$116,050.00	\$53.50	\$124,173.50
SDR 26, AL	DE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, L DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, E, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE	EA	27	\$1,750.00	\$47,250.00	\$1,700.00	\$45,900.00	\$1,284.00	\$34,668.00
SEWER PIF	STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY ES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR STMENTS, COMPLETE IN PLACE	EA	14	\$2,875.00	\$40,250.00	\$2,700.00	\$37,800.00	\$3,910.00	\$54,740.00
6 EXTRA DEI COMPLETE	PTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), IN PLACE	VF	52	\$288.00	\$14,976.00	\$185.00	\$9,620.00	\$138.00	\$7,176.00
	INITARY SEWER MANHOLE FOR 6" - 24" SANITARY SEWER PIPES, (8' CLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, IN PLACE	EA	1	\$4,600.00	\$4,600.00	\$7,000.00	\$7,000.00	\$4,510.00	\$4,510.00
	PROPOSED 8" PVC SEWER PIPE TO EXISTING SANITARY SEWER (CORE DRILL), COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
	PROPOSED 6" PVC PIPE SERVICE LEAD TO EXISTING 8" PVC SEWER PLETE IN PLACE	EA	2	\$1,250.00	\$2,500.00	\$110.00	\$220.00	\$1,200.00	\$2,400.00
10 CONNECT PLACE	PROPOSED 6" STACK TO EXISTING 8" PVC SEWER PIPE, COMPLETE IN	EA	9	\$550.00	\$4,950.00	\$110.00	\$990.00	\$535.00	\$4,815.00
11 TRENCH S	AFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	4821	\$1,10	\$5,303.10	\$0.10	\$482.10	\$1.00	\$4,821.00
SANITARY SEWE	R ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$313,587.35		\$306,058.10		\$343,266.70

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

MISCELLANEOUS ITEMS

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

LJA JOB NO.		,	3390-2261 (5.2)					
			1) CROSTEX CONS	TRUCTION INC.	2) R CONSTRUCT	ION CIVIL, LLC	3) DIMAS BROS. C	ONSTRUCTION
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1 8° PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	130	\$51.00	\$6,630.00	\$49.00	\$6,370.00	\$56.25	\$7,312.50
2 8° PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	228	\$57.00	\$12,996.00	\$62.00	\$14,136.00	\$59.80	\$13,634.40
3 PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6" – 24" SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$2,875.00	\$5,750.00	\$2,750.00	\$5,500.00	\$4,425.00	\$8,850.00
4 EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	17	\$288.00	\$4,896.00	\$185.00	\$3,145.00	\$138.00	\$2,346.00
5 CONNECT PROPOSED 8° PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
6 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	358	\$1,10	\$393.80	\$0.10	\$35.80	\$1.00	\$358.00
OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$32,465.80		\$30,686.80		\$34,000.90
STORM SEWER ITEMS FOR ANNISTON SECTION 8								
1 24° RCP STORM SEWER, ASTM C- 76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	3005	\$83.25	\$250,166.25	\$86.00	\$258,430.00	\$91.00	\$273,455.00
2 30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLAC	E LF	60	\$106.00	\$6,360.00	\$116.00	\$6,960.00	\$117.25	\$7,035.00
3 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLAC	E LF	110	\$148.00	\$16,280.00	\$162.00	\$17,820.00	\$162.70	\$17,897.00
4 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	25	\$3,100.00	\$77,500.00	\$2,850.00	\$71,250.00	\$2,235.00	\$55,875.00
5 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA		\$4,000.00	\$4,000.00	\$2,750.00	\$2,750.00	\$3,084.00	\$3,084.00
6 STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE *B-B*, ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$3,000.00	\$90,000.00	\$1,200.00	\$36,000.00	\$1,135.00	\$34,050.00
7 STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE 'B-B', ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$845.00	\$25,350.00	\$2,750.00	\$82,500.00	\$2,075.00	\$62,250.00
8 CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$800.00	\$1,200.00	\$500.00	\$1,000.00
9 CONTRACTOR TO REMOVE AND DISPOSE EXISTING TYPE "E" INLET TOP AND REPLACE WITH TYPE "C" MANHOLE TOP, COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$2,750.00	\$2,750.00	\$884.00	\$884.00
10 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	4036	\$1.05	\$4,237.80	\$0.10	\$403.60	\$1.00	\$4,036.00
STORM SEWER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$476,694.05		\$480,063.60		\$459,566.00
OFF-SITE STORM SEWER ITEMS FOR ANNISTON SECTION 8								
1 24" RCP, STORM SEWER, ASTM C-76, CLASS III, ALL CUTS, COMPLETE IN PLACE	LF	248	\$83.25	\$20,646.00	\$86.00	\$21,328.00	\$93.55	\$23,200.40
2 30° RCP, STORM SEWER, ASTM C-76, CLASS III,ALL CUTS, COMPLETE IN PLACE	LF	614	\$106.00	\$65,084.00	\$122.00	\$74,908.00	\$119.70	\$73,495.80
3 TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$3,200.00	\$19,200.00	\$2,850.00	\$17,100.00	\$2,235.00	\$13,410.00
4 CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	97	\$15.00	\$1,455.00	\$7.00	\$679.00	\$10.00	\$970.00
OFF-SITE STORM SEWER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$106,385.00		\$114,015.00		\$111,076.20

Page 3 of 9 FRN F-1388 LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

				1) CROSTEX CONST	RUCTION INC.	2) R CONSTRUCTIO	ON CIVIL, LLC	3) DIMAS BROS. CO	ONSTRUCTION
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
OF UTILITY LINE VACUUM TYPE I PUMPING AS NE	GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION S, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF CESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, NLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
CITY OF HOUST	DING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER ON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY , COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
CITY OF HOUST	DING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER ON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY , COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
	IE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$200.00	\$200.00	\$5.00	\$5.00	\$200.00	\$200.00
LABOR AND MA	O EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES FERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, NLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	8	\$150.00	\$1,200.00	\$150.00	\$1,200.00	\$200.00	\$1,600.00
IN FRONT OF LO STRIPPINGS, PL	FROM SECTION 8 UTILITIES TO REMAIN ON SITE, TO BE PLACED ITS IN SECTION 8, INCLUDES STRIPPING, STOCKPILING OF ACEMENT & COMPACTION TO 95% STANDARD PROCTOR GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN	LS	1	\$5,000.00	\$5,000.00	\$4,300.00	\$4,300.00	\$15,000.00	\$15,000.00
9, INCLUDES ST COMPACTION T	Y SPOILS TO BE PLACED IN FRONT OF LOTS IN FUTURE SECTION RIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & 0 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REFESTRIPPINGS, COMPLETE IN PLACE	LS	1	\$2,400.00	\$2,400.00	\$4,600.00	\$4,600.00	\$5,000.00	\$5,000.00
	IRON FITTING, (TO BE USED ONLY AS DIRECTED BY THE MPLETE IN PLACE	TON	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
9 HYDROMULCH S COMPLETE IN P	SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), LACE	AC		\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
10 BROADCAST SE COMPLETE IN P	EDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), LACE	AC	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
	R CONTROL AND PUMPING, INCLUDES ALL PUMPING TO NECT, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$4,500.00	\$4,500.00	\$500.00	\$500.00
	STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED TED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$28.00	\$2,800.00
	POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, EET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$1,007.05	\$1,007.05	\$1,100.00	\$1,100.00	\$500.00	\$500.00
14 STAGE I INLET F	PROTECTION BARRIER, COMPLETE IN PLACE	EA	31	\$100.00	\$3,100.00	\$30.00	\$930.00	\$10.00	\$310.00
15 CONSTRUCT, M COMPLETE IN P	AINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, LACE	EA	1	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
COMPLETE IN P		LF	250	\$2.00	\$500.00	\$1.00	\$250.00	\$2.00	\$500.00
MISCELLANEOUS ITE	MS SUBTOTAL:				\$44,207.05		\$45,885.00		\$52,410.00
ALTERNATE ITEM		. =	22.						
	LENE PIPE, AASHTO M-330, ALL DEPTHS, TO BE USED IN LIEU OF ITEMS FOR ANNISTON SECTION 8 - ITEM #1, COMPLETE IN PLACE	LF	3005	\$65.00	\$195,325.00	\$66.00	\$198,330.00	\$72.00	\$216,360.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

				1) CROSTEX CONS	TRUCTION INC.	2) R CONSTRUCTION	ON CIVIL, LLC	DIMAS BROS. C	ONSTRUCTION
ITEM DESC	RIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2 30° POLYPROPYLENE PIPE, AASHTO M- STORM SEWER ITEMS FOR ANNISTON S	30, ALL DEPTHS, TO BE USED IN LIEU OF ECTION 8 - ITEM #2, COMPLETE IN PLACE	LF	60	\$89.00	\$5,340.00	\$96.00	\$5,760.00	\$96.90	\$5,814.00
3 36" POLYPROPYLENE PIPE, AASHTO M-S STORM SEWER ITEMS FOR ANNISTON S	30, ALL DEPTHS, TO BE USED IN LIEU OF ECTION 8 - ITEM #3, COMPLETE IN PLACE	LF	110	\$99.00	\$10,890.00	\$107.00	\$11,770.00	\$108.15	\$11,896.50
4 24" POLYPROPYLENE PIPE, AASHTO M- OFF-SITE STORM SEWER ITEMS FOR AN IN PLACE	330, ALL DEPTHS, TO BE USED IN LIEU OF INISTON SECTION 8 - ITEM #1, COMPLETE	LF	248	\$85.00	\$16,120.00	\$85.00	\$16,120.00	\$74.90	\$18,575.20
5 30° POLYPROPYLENE PIPE, AASHTO M- OFF-SITE STORM SEWER ITEMS FOR AN IN PLACE	330, ALL DEPTHS, TO BE USED IN LIEU OF INISTON SECTION 8 - ITEM #2, COMPLETE	LF	614	\$89.00	\$54,646.00	\$101.00	\$62,014.00	\$99.00	\$60,786.00
ALTERNATE ITEM SUBTOTAL:					\$282,321.00		\$293,994.00		\$313,431.70
BIDDING SUMMARY									
SUBTOTAL WATER ITEMS FOR ANNISTON SEC	TION 8				\$203,660.75		\$215,519.00		\$210,754.00
SUBTOTAL SANITARY SEWER ITEMS FOR ANN	ISTON SECTION 8				\$313,587.35		\$306,058.10		\$343,266.70
SUBTOTAL OFF-SITE SANITARY SEWER ITEMS	FOR ANNISTON SECTION 8				\$32,465.80		\$30,686.80		\$34,000.90
SUBTOTAL STORM SEWER ITEMS FOR ANNIS	ON SECTION 8				\$476,694.05		\$480,063.60		\$459,566.00
SUBTOTAL OFF-SITE STORM SEWER ITEMS FO	OR ANNISTON SECTION 8				\$106,385.00		\$114,015.00		\$111,076.20
SUBTOTAL MISCELLANEOUS ITEMS					\$44,207.05		\$45,885.00		\$52,410.00
TOTAL AMOUNT BASE BID					\$1,177,000.00		\$1,192,227.50		\$1,211,073.80
ALTERNATE ITEM			*						
TOTAL AMOUNT BASE BID					\$1,177,000.00		\$1,192,227.50		\$1,211,073.80
DEDUCT STORM SEWER ITEMS FOR ANNISTO	N SECTION 8 ITEM NO.1		4		-\$250,166.25		-\$258,430.00		-\$273,455.00
DEDUCT STORM SEWER ITEMS FOR ANNISTO	N SECTION 8 ITEM NO.2				-\$6,360.00		-\$6,960.00		-\$7,035.00
DEDUCT STORM SEWER ITEMS FOR ANNISTO	N SECTION 8 ITEM NO.3				-\$16,280.00		-\$17,820.00		-\$17,897.00
DEDUCT OFF-SITE STORM SEWER ITEMS FOR	ANNISTON SECTION 8 ITEM NO.1				-\$20,646.00		-\$21,328.00		-\$23,200.40
DEDUCT OFF-SITE STORM SEWER ITEMS FOR	ANNISTON SECTION 8 ITEM NO.2				-\$65,084.00		-\$74,908.00		-\$73,495.80
SUBTOTAL ALTERNATE ITEM					\$282,321.00		\$293,994.00		\$313,431.70
TOTAL AMOUNT INCLUDING ALTERNATE ITEM					\$1,100,784.75		\$1,106,775.50		\$1,129,422.30

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 8

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

LJA JOB NO.		03	30-2201 (3.2)					
		4) FELLERS AND CLARK LP		5) HURTADO CONSTRUCTION COMPANY		6) TEXA	SITE	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
WATER ITEMS FOR ANNISTON SECTION 8								
1 8" PVC WATER LINE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDING FITTINGS, COMPLETE IN PLACE	LF	2248	\$44.60	\$100,260.80	\$37.68	\$84,704.64	\$36.00	\$80,928.00
2 RESTRAINED JOINT 8* PVC, WATER PIPE, AWWA C-900, DR 14, CLASS 305, ALL DEPTHS, INCLUDING ALL RESTRAINED JOINT FITTINGS, COMPLETE IN PLACE	LF	1237	\$45.35	\$56,097.95	\$50.88	\$62,938.56	\$65.00	\$80,405.00
3 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	8	\$2,040.00	\$16,320.00	\$1,888.00	\$15,104.00	\$1,850.00	\$14,800.00
4 FLUSHING VALVE, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6° GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	7	\$5,360.00	\$37,520.00	\$5,488.00	\$38,416.00	\$5,400.00	\$37,800.00
5 8° PLUG AND CLAMP WITH 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	2	\$610.00	\$1,220.00	\$1,068.00	\$2,136.00	\$1,200.00	\$2,400.00
6 WET CONNECTION (ALL SIZES), INCLUDES REMOVAL AND DISPOSAL OF EXISTING PLUG AND CLAMP & 2" BLOW-OFF VALVE & BOX AND CONNECT PROPOSED WATER LINE TO EXISTING WATER LINE, COMPLETE IN PLACE	EA	2	\$180.00	\$360.00	\$668.00	\$1,336.00	\$600.00	\$1,200.00
7 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	3520	\$0.10	\$352.00	\$0.08	\$281.60	\$1.00	\$3,520.00
WATER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$212,130.75		\$204,916.80		\$221,053.00
SANITARY SEWER ITEMS FOR ANNISTON SECTION 8								
1 8" PVC SEWER PIPE, ASTM D-2241, SDR 26 (PR 160), 8'-12' CUT, COMPLETE IN PLACE	LF	1291	\$42.50	\$54,867.50	\$50.80	\$65,582.80	\$46.00	\$59,386.00
2 8° PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	870	\$53.40	\$46,458.00	\$68.00	\$59,160.00	\$56.00	\$48,720.00
3 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	LF	2321	\$53.95	\$125,217.95	\$69.80	\$162,005.80	\$48.00	\$111,408.00
4 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING PIPE, CEMENT STABILIZED BACKFILL, RISER, STACK, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	27	\$1,430.00	\$38,610.00	\$1,788.00	\$48,276.00	\$1,750.00	\$47,250.00
5 PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6" - 24" SANITARY SEWER PIPES, (8" DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	14	\$2,615.00	\$36,610.00	\$3,588.00	\$50,232.00	\$3,050.00	\$42,700.00
6 EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	52	\$139.80	\$7,269.60	\$138.00	\$7,176.00	\$200.00	\$10,400.00
7 VENTED SANITARY SEWER MANHOLE FOR 6" - 24" SANITARY SEWER PIPES, (8" DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR AND ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$4,865.00	\$4,865.00	\$13,868.00	\$13,868.00	\$100.00	\$100.00
8 CONNECT PROPOSED 8" PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	1	\$2,555.00	\$2,555.00	\$1,800.00	\$1,800.00	\$600.00	\$600.00
9 CONNECT PROPOSED 6" PVC PIPE SERVICE LEAD TO EXISTING 8" PVC SEWER PIPE, COMPLETE IN PLACE	EA	2	\$730.00	\$1,460.00	\$1,988.00	\$3,976.00	\$1,050.00	\$2,100.00
10 CONNECT PROPOSED 6" STACK TO EXISTING 8" PVC SEWER PIPE, COMPLETE IN PLACE	I EA	9	\$730.00	\$6,570.00	\$1,980.00	\$17,820.00	\$1,050.00	\$9,450.00
11 TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	4821	\$0.10	\$482.10	\$0.08	\$385.68	\$1.00	\$4,821.00
SANITARY SEWER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$324,965.15		\$430,282.28		\$336,935.00

Page 6 of 9 FRN F-1386 LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

MISCELLANEOUS ITEMS

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

LJA JU	B NO.		U.	390-2261 (9.2)					
				4) FELLERS AN	ID CLARK LP	5) HURTADO CONSTI	RUCTION COMPANY	6) TEXA	SITE
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 12'-16' CUT, COMPLETE IN PLACE	LF	130	\$53.40	\$6,942.00	\$66.48	\$8,642.40	\$49.00	\$6,370.00
	" PVC SEWER PIPE, AWWA C-900, DR 18, CLASS 235, 16'-20' CUT, COMPLETE IN PLACE	LF	228	\$53.40	\$12,175.20	\$76.28	\$17,391.84	\$58.00	\$13,224.00
	PRECAST STANDARD SANITARY SEWER MANHOLE FOR 6° – 24° SANITARY SEWER PIPES, (8' DEPTH), INCLUDES STAINLESS STEEL INFLOW PROTECTOR IND ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$2,615.00	\$5,230.00	\$3,588.00	\$7,176.00	\$3,050.00	\$6,100.00
	EXTRA DEPTH FOR SANITARY SEWER MANHOLE, (GREATER THAN 8' DEPTH), COMPLETE IN PLACE	VF	17	\$139.80	\$2,376.60	\$138.00	\$2,346.00	\$200.00	\$3,400.00
	CONNECT PROPOSED 8" PVC SEWER PIPE TO EXISTING SANITARY SEWER MANHOLE, (CORE DRILL), COMPLETE IN PLACE	EA	1	\$425.00	\$425.00	\$1,628.00	\$1,628.00	\$1,500.00	\$1,500.00
6 1	RENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	358	\$0.10	\$35.80	\$0.08	\$28.64	\$1.00	\$358.00
OFF-SI	TE SANITARY SEWER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$27,184.60		\$37,212.88		\$30,952.00
STORA	I SEWER ITEMS FOR ANNISTON SECTION 8								
	A* RCP STORM SEWER, ASTM C- 76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	3005	\$94.65	\$284,423.25	\$91.08	\$273,695.40	\$92.00	\$276,460.00
2 3	0° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	60	\$115.50	\$6,930.00	\$143.88	\$8,632.80	\$141.00	\$8,460.00
3 3	6° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	110	\$177.15	\$19,486.50	\$158.00	\$17,380.00	\$164.00	\$18,040.00
	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, NCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	25	\$2,325.00	\$58,125.00	\$3,080.00	\$77,000.00	\$4,100.00	\$102,500.00
	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, NCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	1	\$3,235.00	\$3,235.00	\$4,128.00	\$4,128.00	\$5,175.00	\$5,175.00
	STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE "8-8", ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$1,170.00	\$35,100.00	\$1,238.00	\$37,140.00	\$1,900.00	\$57,000.00
	STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST INLET, TYPE '8-8', ALL DEPTHS, COMPLETE IN PLACE	EA	30	\$2,780.00	\$83,400.00	\$1,648.00	\$49,440.00	\$1,900.00	\$57,000.00
	CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	EA	2	\$2,555.00	\$5,110.00	\$888.00	\$1,776.00	\$500.00	\$1,000.00
	CONTRACTOR TO REMOVE AND DISPOSE EXISTING TYPE "E" INLET TOP AND REPLACE WITH TYPE "C" MANHOLE TOP, COMPLETE IN PLACE	EA	1	\$1,305.00	\$1,305.00	\$2,488.00	\$2,488.00	\$950.00	\$950.00
10 1	TRENCH SAFETY, ALL DEPTHS, COMPLETE IN PLACE	LF	4036	\$0.10	\$403.60	\$0.08	\$322.88	\$1.00	\$4,036.00
STORM	SEWER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$497,518.35		\$472,003.08		\$530,621.00
OFF-SI	TE STORM SEWER ITEMS FOR ANNISTON SECTION 8								
1.3	4" RCP, STORM SEWER, ASTM C-76, CLASS III,ALL CUTS, COMPLETE IN PLACE	LF	248	\$94.65	\$23,473.20	\$88.68	\$21,992.64	\$90.00	\$22,320.00
2 3	10° RCP, STORM SEWER, ASTM C-76, CLASS III,ALL CUTS, COMPLETE IN PLACE	LF	614	\$115.50	\$70,917.00	\$113.48	\$69,676.72	\$116.00	\$71,224.00
	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, NCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	6	\$2,325.00	\$13,950,00	\$3,080.00	\$18,480.00	\$4,140.00	\$24,840.00
	CONTRACTOR TO BREAK INTO EXISTING TYPE "C" MANHOLE & CONNECT PROPOSED STORM SEWER, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	97	\$1.00	\$97.00	\$8.88	\$861.36	\$615.00	\$59,655.00
OFF-SI	TE STORM SEWER ITEMS FOR ANNISTON SECTION 8 SUBTOTAL:				\$108,437.20		\$111,010.72		\$178,039.00

FRN F-1386 LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

LJA JOB RO.		03:	30-2201 (5.2)					
		4) FELLERS AND CLARK LP		5) HURTADO CONSTR	LUCTION COMPANY	6) TEXA	SITE	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1 DEWATERING (GROUNDWATER CONTROL) TO COMPLETE THE CONSTRUCTION OF UTILITY LINES, ALL LINE SIZES AND DEPTHS, INCLUDES CONVENTIONAL VACUUM TYPE WELL POINTS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS NECESSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
2 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR STORM SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
3 WET SAND BEDDING FOR UNSTABLE SUBGRADE FOR SANITARY SEWER AS PER CITY OF HOUSTON DRAWING NO. 02317-02 (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
4 CRUSHED STONE SUPPORT FOR MANHOLE IN UNSTABLE SUBGRADE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00
5 ADJUSTMENT TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	8	\$150.00	\$1,200.00	\$150.00	\$1,200.00	\$150.00	\$1,200.00
6 UTILITY SPOILS FROM SECTION 8 UTILITIES TO REMAIN ON SITE, TO BE PLACED IN FRONT OF LOTS IN SECTION 8, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$21,395.00	\$21,395.00	\$16,000.00	\$16,000.00	\$4,200.00	\$4,200.00
7 OFF-SITE UTILITY SPOILS TO BE PLACED IN FRONT OF LOTS IN FUTURE SECTION 9, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, PLACEMENT & COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$1,777.30	\$1,777.30	\$3,800.00	\$3,800.00	\$700.00	\$700.00
8 EXTRA DUCTILE IRON FITTING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
9 HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
10 BROADCAST SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	20	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00	\$1,000.00	\$20,000.00
11 SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$610.00	\$610.00	\$2,000.00	\$2,000.00	\$100.00	\$100.00
12 EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
13 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$2,130.00	\$2,130.00	\$800.00	\$800.00	\$3,550.00	\$3,550.00
14 STAGE I INLET PROTECTION BARRIER, COMPLETE IN PLACE	EA	31	\$12.15	\$376.65	\$8.00	\$248.00	\$115.00	\$3,565.00
15 CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,520,00	\$1,520.00	\$800.00	\$800.00	\$200.00	\$200.00
18 FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	250	\$1.00	\$250.00	\$1.00	\$250.00	\$1.00	\$250.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$56,763.95		\$52,603.00		\$41,270.00
ALTERNATE ITEM 1 24" POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, TO BE USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 8 - ITEM #1, COMPLETE IN PLACE	LF	3005	\$80.05	\$240,550.25	\$78.00	\$234,390.00	\$69.00	\$207,345.00
STORM SETTER HEMS FOR ARRISTON SECTION 0 - HEM #1, COMPLETE IN PLACE								

Page 8 of 9 FRN F-1385
LIA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE TO SERVE ANNISTON SECTION 8
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
DECEMBER 13, 2023
LJA ENGINEERING, INC.
E. MURPHY
DECEMBER 14, 2023
0390-2281 (9.2)

				()					
				4) FELLERS AN	ID CLARK LP	5) HURTADO CONSTR	UCTION COMPANY	6) TEXA	SITE
ITEN	DESCRIPTION DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2	30° POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, TO BE USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 8 - ITEM #2, COMPLETE IN PLACE	LF	60	\$99.30	\$5,958.00	\$124.00	\$7,440.00	\$119.00	\$7,140.00
3	36° POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, TO 8E USED IN LIEU OF STORM SEWER ITEMS FOR ANNISTON SECTION 8 - ITEM #3, COMPLETE IN PLACE	LF	110	\$143.45	\$15,779.50	\$118.00	\$12,980.00	\$106.00	\$11,660.00
4	24° POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, TO BE USED IN LIEU OF OFF-SITE STORM SEWER ITEMS FOR ANNISTON SECTION 8 - ITEM #1, COMPLETE IN PLACE	LF	248	\$80.05	\$19,852.40	\$78.00	\$19,344.00	\$68.00	\$16,884.00
5	30° POLYPROPYLENE PIPE, AASHTO M-330, ALL DEPTHS, TO BE USED IN LIEU OF OFF-SITE STORM SEWER ITEMS FOR ANNISTON SECTION 8 - ITEM #2, COMPLETE IN PLACE	LF	614	\$99.30	\$60,970.20	\$92.00	\$56,488.00	\$104.00	\$63,856.00
ALTI	ERNATE ITEM SUBTOTAL:				\$343,110.35		\$330,642.00		\$306,865.00
BIDD	NING SUMMARY								
SUB	TOTAL WATER ITEMS FOR ANNISTON SECTION 8				\$212,130.75		\$204,916.80		\$221,053.00
SUB	TOTAL SANITARY SEWER ITEMS FOR ANNISTON SECTION 8				\$324,965.15		\$430,282.28		\$336,935.00
SUB	TOTAL OFF-SITE SANITARY SEWER ITEMS FOR ANNISTON SECTION 8				\$27,184.60		\$37,212.88		\$30,952.00
SUB	TOTAL STORM SEWER ITEMS FOR ANNISTON SECTION 8				\$497,518.35		\$472,003.08		\$530,621.00
SUB	TOTAL OFF-SITE STORM SEWER ITEMS FOR ANNISTON SECTION 8				\$108,437.20		\$111,010.72		\$178,039.00
SUB	TOTAL MISCELLANEOUS ITEMS				\$56,763.95		\$52,603.00		\$41,270.00
TOTA	AL AMOUNT BASE BID				\$1,227,000.00		\$1,308,028.76		\$1,338,870.00
ALTE	ERNATE ITEM								
TOTA	AL AMOUNT BASE BID				\$1,227,000.00		\$1,308,028.76		\$1,338,870.00
DEDI	JCT STORM SEWER ITEMS FOR ANNISTON SECTION 8 ITEM NO.1				-\$284,423.25		-\$273,695.40		-\$276,460.00
DEDI	JCT STORM SEWER ITEMS FOR ANNISTON SECTION 8 ITEM NO.2				-\$6,930.00		-\$8,632.80		-\$8,460.00
DED	JCT STORM SEWER ITEMS FOR ANNISTON SECTION 8 ITEM NO.3				-\$19,486.50		-\$17,380.00		-\$18,040.00
DEDI	JCT OFF-SITE STORM SEWER ITEMS FOR ANNISTON SECTION 8 ITEM NO.1				-\$23,473.20		-\$21,992.64		-\$22,320.00
DEDI	JCT OFF-SITE STORM SEWER ITEMS FOR ANNISTON SECTION 8 ITEM NO.2				-\$70,917.00		-\$69,676.72		-\$71,224.00
SUB	TOTAL ALTERNATE ITEM				\$343,110.35		\$330,642.00		\$306,865.00
TOTA	AL AMOUNT INCLUDING ALTERNATE ITEM		Ť		\$1,164,880.40		\$1,247,293.20		\$1,249,231.00